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MagPure Circulating DNA R8 Kit
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AP ERABEAN, ZEITAK S ZRERNE T~ &, Eb
TNEFE 2~5ml 8 4R BUE S 2 BT DNAL 3 2 2 T 4 I 14 1
MR THRAEA, TRABRERD XX GTRANE, &0
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B3 R BRAE(2~5 ml )

1.

FE 5~15ml EuEF, A 0. 1ml Proteinase K/Carrier RNA
Fa 2~5ml . mMAFRERERES, A 0.1~0.2ml Buffer
SDS, #4541, 55 B & 60 44t

FEE, Carrier RNA 47t qubit # sk — % &7, {2 Carrier RNA &8 D FE A
xf DNA B9 I, RIS DNA B =&,
H OB \ e
2. I NEEEBE Buffer MIKD, ] 6~8 ko BUH T 28357
[ =ems | aaisos|  AR4IB4s| 5. FRHDE, KESBHRAET. BTERBEEY
540k 3 8 % 48 % BAREX BB F
Proteinase K (Il 36 mg 240 mg T kA 2 ml 3 ml 4 ml 5 ml
Protease Dissolve Buffer 1.8 ml 15 ml Buffer SDS 0.2 ml 0.2 ml 0.2 ml 0.2 ml
Buffer SDS 1.8 ml 15 ml PK/Carrier 0.1 ml 0.1 ml 0.1 ml 0.1 ml
Buffer MIKD 50 ml 300 ml MLKD ## 2.3 ml 33m | 43m | 50ml
Carrier RNA 110 ug 110 ug AT AR 4.6 ml 6.6 ml 8.6m | 10.3ml
Elution Buffer 1.5ml 10 ml SRR
Buffer MAW 1 20 ml 100 ml %2 A/1 3L 3.0 ml 3.0 ml 3.2 ml 4.3 ml
Buffer MW 2 6ml 20 ml %B/2 3 1.6 ml 1.8 ml 1.8 ml 20ml
MagPure Particle F 1.2 ml 6.0 ml #C/34L / 1.8 ml 1.8 ml 2.0 ml
R8Tip 8 48 %D/47, / /1 18m | 20m
2ml Centrifuge Tube C(4: &) 3 48 #E/53 1.8ml Buffer MAW1 #1 100ul MagPure Paritcle F
RS £ (%) 3 48 % F/6 L 1.8ml Buffer MW?2
#wEI ANHEESNE RBTip
REFEHE: KAFRERETZE, AHML—4£. %G/73, | 2ml B F 70l Elution Buffer( B 0 & & )
3. EATDNAREF, #AARLIE", FTHNE]. EEFHS
# & Ik PR S EHRA S AR
e #f Proteinase K[40mg/ml): #m A 0.9ml/6ml Protease Dissolve 4. B4 Eluion Buffer BB Q&N AT, AEEF K0
Buffer, HifliL Proteinase K &4 ##, 7 T-20~8°C.
THEIHF
e 4 Carrier RNA(Tug/ul): Am A 0.1 1ml Elution Buffer Z Carrier RNA
F b, kit Conier RNA A, 7 F20°C, S ATAH, BAER. KibFE, T12000xg & 14
o  Carrier RNA 5 Proteinase K # 47 flif.: #% 1ml Proteinase K Ap X\ o RBERAR, %%é%ﬁ%%ﬁi%ﬁ%%@%, s
5~10ul Carrier RNA, BAE#HA, BFEET20 E. 20°C KRR, IFRURAM
o Buffer MW2 # E sk im A 24ml (8 k) /80ml (48 k) ZEEHifE,
B LA 1R AR i AR5 17 AR A R R B & 1] T Rt 1] A i
iR A 0 - - 0 0 - 0 e (1000) XA
1873 E 1800 - - 1 1 - 0 ek (1000 M
%4 A 4000 - Bkt 5 3 - 0 e (1000 x M
b B 1800 - - 5 2 0 0 e (1000) x M
b C 1800 - - 5/0 2/0 - 0 e (1000) KA
Wk 3 D 1800 - - 5/0 2/0 - 0 ek (1000) * A
ek 4 E 1800 - - 2 1 - 0 e (1000 * 1
w&S5 | F | 1800 - - 1 - 5 ik (10000 | %M
i G 70 - - 2 - 0 g% (4000 M




